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Algebra 2 Semester 1 Final Review (30 points)

Part 1: No Calculator

Solve the system of equations by graphing:

1. y=3x-—-5 2 y=x—4
y=x+3 3x=12 x-= 4
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Graph the system of inequalities. i
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Find the zeros of the functions.
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14.  Solve and graph the inequality:
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15.  Solve and graph the inequality:
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16. Write a compound inequality for the following graph:
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17.  Write a compound inequality for the following graph:
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Simplify.
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38. 2(6—0i)-(i+4) 39. (3)(4D)3*(6i)
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Write a quadratic equation which has the given roots.

51. 3and -8 52. -4 and -2/3
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L Part 2: Calculator Section

Find the vertex of each parabola. :
53. y—x —9x+9 54.y=3x2—3x

,,,,,,

55. Solve —show all steps (Linear Programming).
A company has two machines which produce bolts and nuts. The cost to run Machine X
for an hour is $30. During that hour, Machine X produces 200 bolts and 100 nuts. The
cost to run Machine Y for an hour is $20. During that hour, Machine Y produces 100
bolts and 150 nuts. Machine X and Machine Y combined can run no longer than 40
hours. The company has an order to produce at least 4000 bolts and 3000 nuts. The
company wants to minimize the cost of running the machines.
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56. 15 members of ski and snow board club went on a one-day ski trip. Members can rent skis for
$25.00 per day or snowboards for $30.00 per day. The club paid $332 for rental equipment.
Write the system of equations that represents the number of members who rented two
types of equipment. (You don’t have to solve.)
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57. Al 231 math club students went on a field trip. Some students rode in vans which hoid 7
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58. The Photo Shop charges $1.60 to develop a roll of film plus 11¢ for each print. Photos R Us
charges $1.20 to develop a roll plus 12¢ per print. At how many prints is it cheaper to use The
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59. The cell phone company A charges a $15.00 monthly fee plus 5 cents for every text. Company
B charges a $35.00 monthly fee plus 3 cents for every text. At how many texts would it be

better to use company B? X
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60.  Aballis thrown in the air. The height of the ball is given by the equation h(t) = —16t2 + 30¢,
where tis the time in seconds. How long will it take for the ball to hit the ground, A(t)=0,

rounded to the nearest hundredth of a second?
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61.  Acannonballis fired from a cannon. It’s height above the ground is given by the equation
h(t) = 85t — 16t2. How long after the cannonball is fired does it hit the ground? Round to

the nearest tenth of a second.
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%{ Determine the number of solutions for each of the following systems of equations.
(You don’t have to solve, just find the answer using the graph.)
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